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Question One ( 4 marks )

Write the coefficient of:

a) x> inthe expansionof (5% -2 )”

b) X  inthe expansionof (X 3 )4 (x-2 )5
- X
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EXTENSION ONE b) Determine th‘e greatest coefficient in the expansion of (3x-7 )7
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Question Three (4 marks )

Weighting: 20% of H.S.C. Assessment Mark.
a) Write the expansion of (1 +x )"

“ B n=2 -
STUDENT NAME: _ MARK: ‘ /128 . b showtharn [ 3" —11=5c 2™ (r+2) ]
PERCENTAGE: % _
RANK ON THIS TASK: /123 Question Four ( 2 marks ) ‘ -

4 men and} women are to be seated randomly around a round table.
‘What is the probability that the men and women will alternate?

Time Allowed: 50 minutes.
Directions:
o Answer all questions on separate lined paper.
» Show all necessary working. Question Five ( 3 marks )
o Marks may not be awarded for careless or badly arranged
work. From a group of 7 men and 5 women a team of six is to be formed.
‘ Given each person is equally likely to be selected, what is the probability

Guicomes examined: that the selected team contains at least 4 men?
o \

PE3 — Solves problems involving permutations and combinations.

HE3-Usesa variety of strategies to investigate Mathematical models of situations
involving binomial probability. :




Question Six ( 3 marks )
Consider the letters of the word TEMPERATURE
a) In how many different ways can the letters be arranged?

b) What is the probability that the word formed begins with a P
and that the two R’s are next to each other?

Question Seven ( 5 marks )

PIN numbers are 4 digit numbers using any of the digits from 0 to 9.
However, they must start with a non-zero digit and digits can be repeated.

a) What is the probability that a particular PIN number has at least
one 9 among its digits?

b) 3 people are randomly given PIN numbers. What is the probability

that exactly 3 of them have at least one 9 as one of the digits of their
PINnumbers? ( Answer correct to 2 decimal places )
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Duestbion Four
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